Al Gl & AF S & AN M
20199 & 20l & LB H S AIE Y| ot
2 A Al & Hl 2
PSP 6—’?—_._ 22|
Sel: BT Fl (SHel:@el)
SH-HH . B(SH) - HBAMY - B2 o AF o San H D2
S AIEHI 1,441,290 1,240,172 201,118
ol&=% 22 765,561 637,269 128,292
ot== HH| 765,561 637,269 128,292
ol B 294,000 294,000 0
206 M = Hl 44,000 44,000 0
01 X2t 44,000 44,000 0
Odt=Ald EHl N7 44,000
ot 18,400,000& 18,400
s 3 17,600,000& 17,600
ANHE, D S(EXM) 4,000,000 4,000
PLME HBOXH SAXM 4,000,000 4,000
401 AIEHIL 20| 250,000 250,000 0
01 A& bl 250,000 250,000 0
ObdleE AR SAt 100,000,000 100,000
O “sHEFY Hb| 70,000,000& 70,000
Odte=S Ul SAH 80,000,000& 80,000
ot =4 241,561 233,269 8,292
201 LBEt2 A Y| 25,211 23,419 1,792
01 At 22l Yl 20,681 18,889 1,792
O=4dE AHl (2RI S) 10,000,000& 10,000
O st+=22 XA CCTV 2 10,000,000& 10,000
OB 4EMEE AL SRSINSS 295X
3,000& *3024 *90% 81
OFHESIAMA SHEZZ O SHO0E
600,000& 600
02 33249l 4,530 4,530 0
Odt=E TEE FSUHE M3
30,000 x2CH x12& 720
oLEs 3323 3,810
HIOI2(XTHED) 2,500&3 x12& 30
2C2(XNMED) 15,0003 x12& 180
HE BoHE Sz & dM)ls
150,000 *2 A~ x 12 3,600
203 & R =&H| 350 350 0
03 Al F=XH R =XH| 350 350 0
Odt=E ZEZLESAE SEHH S 50,000& *7H 350
401 Al HI L £ 0HHI 216,000 209,500 6,500
01 A& HI 216,000 209,500 6,500
O2UW dt=% JIAHEE 216,000
SJIH =4 120,000& = 1,300’ 156,000
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01 & 2SS 10,000 10,000 0
Odlx=E X222 & 10,000,000& 10,000
dels E0E 2 HAH =) 220,000 0 220,000
401 Al HI L 2 0HHI 220,000 0 220,000
01 Al& H| 220,000 0 220,000
OXe s goteo 2 S B At
220,000,000& 220,000
T Al Y| 192,057 110,807 81,250
S ADIBHAIE &= 192,057 110,807 81,250
SCAHEZA 37,457 15,807 21,650
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01 Al&H| 22,000 0 22,000
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=Y 22,000,000 22,000
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CHEH+-Z2E =& S A2 5,000 ,000 0
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01 Al&H| 5,000 ,000 0
OUUEN+==2& ol RS
5,000,000& 5,000
BEHT BR-00 100,000 ,000 50,000
401 A& HI L 2 04| 100,000 ,000 50,000
01 Al&H| 100,000 ,000 50,000
OBE X 2200 ZHE > L AIET
HEEAE A 2 1A =) 100,000,000 100,000
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SAIEH
HH2AHH (ZAIZH D)
ol 29|

= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
ol 2AH| 431,264 404,923 26,341
101 @14 Hl 431,264 404,923 26,341
01 2= 4,187 4,002 185
OEYRSTNE TU(FU)H: F2224Y
87,2203 x1& »42| «12& 4,187
03 RIHAZ 2 E =+ 427,077 400,921 26,156
Odt=& EEE AR 427,077
== 3,589,150 x7H x12& 301,489
X O A C} 8,400
SlEay 8,400
b < Xt 40,0002 72 %122 3,360
JIEt 60,0003 x7H »12& 5,040
HMa0=
HUMHSXNSIE 2,099,660 x50%+7H 7,349
Scl= 4| 31,020
- JHAH 2 &4l 130,000& x7H «12& 10,920
- BE SO
AU ZXSIIE 3,589, 1502 7 x40%*23| 20,100
ZU2RE 76,194
- 022
SAUZ 4,045,910 *1/226%50%*7 L *4 Al 12,031
2Hx123 x4
-RE2RE
S A3 4,045,910 x1/226%150%*7 H »4 39,099
Al 2H+52
-HAReSRIIFE
SAAS 4,045,910 x1/226+7 H «8A| 2k *2 25,064
5
o=l 1,785
-Ags 50,000& 7 350
- &= 60,0003 »7H 420
-9 25,0003 7 175
- &5t 10,000& »7H 70
-&gR 20,000& 7 140
- LR35 40,0003 »7H 280
-HH= 50,0003 +7H 350
Mol o222 € sS85 AE S84
7,000 x7Hx10 490
R~ A= 50,0003 »7H 350
=&l 18,680 19,424 AT44
JlE2&l 18,680 19,424 AT44
201 L2l 14,480 15,224 AT44
01 At 22l 14,480 15,224 AT44
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